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EXQW\P’Q:

> y = np.round(np.random.randn(3,5),2); vy
array([[ 1.9 , ©0.24, -0.38, -0.86, 2.49],
[-0.22, ©0.17, -0.74, 1.12, 1.06],
[-2.39, 0.98, -1.87, -1.62, 0.2311)
vhat = np.round(np.random.randn(3,5),2); yhat
array([[ 0.03, 0.43, -0.25, 0.61, -0.92],
[-1.84, -0.35, 2.32, 0.82, 0.51],
[-1.11, -0.19, 0.48, 2.1 , 0.6 11])
(y - yhat)x%2
array([[ 3.4969, 0.0361, 0.0169, 2.1609, 11.6281],
[ 2.6244, 0.2704, 9.3636, 0.09 , 0.3025],
[ 1.6384, 1.3689, 5.5225, 13.8384, 0.1369]11])
np.sum( (y-yhat)*x2 ) / 15
np.fl10at64(3.4996599999999995)
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